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1. What is the resistance of a 20.0-m-long piece of 12-gauge copper wire having a 2.053-
mm dlame‘rer" (pcu = 1.72 x 10® om)
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2. The diameter of 0-gauge copper wire is 8.252 mm. Find the resistance of a 1.00-km
length of such wire used for power transmission. (pc = 1.72 x 10 om)
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Practice - 20.3 Resistance and Resistivity

3. If the 0.100-mm diameter tungsten filament in a light bulb is to have a resistance of
&2~ how long should it be? (pw = 5.6 X 10 o'm) 3

= RA ;lo-Q)W @*M}
°

4. Find the ratio of the diameter of aluminum to copper wire, if they have the same
resistance per unit Ieng‘rh (as they might in household wiring). (pcu = 1.72 x 10% 'm

and paj = 2.65 x 10 Om)
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5. What current flows through a 2.54-cm-diameter rod of pure silicon that is 20.0 cm
long, when 1.00 x 10° V is applied to it? (Such a rod may be used to make nuclear-
par‘ﬂcle detectors, for example.) (ps; = 2300 Qm)
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6. A wire is drawn through a die, strefching it to four times its original length. By what

factor does :Y:e:;ance increase? ﬁ(z % A & VO\U\W\{Q Chins O{Yﬁ]
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